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  Name:                                                 My Math Homework – Q2:6               Date: 

Monday Tuesday Wednesday Thursday 
Simplify the fractions. 

12

4
 =             

3

5
 =   

 

Simplify the fractions. 

18

14
 =           

7

12
=  

Simplify the fractions. 

12

6
=          

11

16
 =  

Simplify the fractions. 

40

32
=         

3

15
 =  

Find the Product. 

1.45 x 3.8= 
 

Find the Product. 

7.6 x 0.38= 
 

Find the Product. 

12.89 x 7= 
 

Find the Product. 

324.6 x 0.12= 
 

Find the Quotient. 

    
        0.24 ) 0.912 

 

Find the Quotient. 

              
     1.5 ) 9.75 

 

Find the Quotient. 

              
     0.04 )  0.552 

 

Find the Quotient. 

            
    2.8 ) 68.88 

 
Find the Sum. 

743.89 + 32.4=  

Find the Sum. 

647.2 + 12.88=  

Find the Sum. 

3.89 + 43.9=  

Find the Sum. 

378.03 + 17.5=  

Find the Difference. 

345.4 – 43.8= 
 

Find the Difference. 

7,392.005 – 438.9= 
 

Find the Difference. 

389.05 – 19.488= 
 

Find the Difference. 

18.398 – 4.37= 
 

Write in >, <, = 

4.38  _____   4.39 
 

3

2
_____

10

2
 

Write in >, <, = 

6.392 _____  63.92 
 

10

5
 _____ 

2

1
 

Write in >, <, = 

8.38 _____ 8.38 
 

6

3
 _____  

8

6
 

Write in >, <, = 

28.590 _____ 28.59 
 

3

1
 _____  

12

5
 

Solve. 

(38 + 10) ÷ 12 + 52=  

Add parenthesis to the 
expression below. 

14.5 – 12 + (1.2 x 2)= 
 

Solve. 

1.5[3(14.5 + 7)–3]–7.4=  

Write two expressions 
where the solution is 30. 

 
 

½ of the garden is 
tomatoes, and 1/3 of the 
garden is carrots.  How 
much of the garden is 
tomatoes and carrots? 

 
 

Amy ate 2 ½ cookies after 
lunch, and 1 2/5 cookies 
after dinner.  How many 
cookies did she eat 
altogether? 

 

A recipe calls for ¾ cups of 
flour, and 1 1/8 cups of 
sugar.  How much flour and 
sugar does the recipe need 
altogether? 

 

Janie ran 3 ½ miles on 
Monday, and 4 ¼ miles on 
Tuesday.  How many total 
miles did she run? 

 

Find the sum. 

10

3
  +  

5

2
=  

 

8

7
 +  

4

2
=  

 

Find the difference. 

5

4
 – 

15

2
 =  

 

7

4
 – 

8

2
=  

Find the sum. 

6

5
3   +  

8

2
2  =  

 

3

2
1   +  

6

2
1  = 

 

Find the difference. 

5

2
3  – 

3

1
1  =  

 

5

2
5  – 

4

1
4 =  


